
Applications to pass o s actor
5 52

l S got K30uot 0 SEomeo5

JJgKdo2aXcssor
2 If k 0 S can have no geodesic tunes J

É EE

T

one a f Kds
Q 0232T

1
3 0 D T ble Oo Ea

II o yby uniqueness of geodesics

3 If 5 homo 54th KO then S has at most one

simple
cloned geodesic

O

O
O a

O 0
no lanes

X blueu pay 2 Et
É

FYjXCblues 0

cloned geodesics then the region in between leas k Oy



4 If k O Scompact then any two simple
closed geodesics intersect

Else if this the sofar between them

O XLR NK
th

xp o

but X 4 SO bl if you glue on two disks

to 24 you get
a cloned surface I so XCE 2

but Xlt XLR T2 J

5 Interior angle sums in geodesic Dave

Equal to a if K 0

a Greater than a if K o

a less than a if K LO

t
EO L Jfkdo ait Oi are interior org

Ift Ba Eui 2 fjords

Jfk ta Edi



2 D quehoms the donate at the shape op in normal
loads

Lag 2gB
B g Lag

IL B x Lattes BILA

Pre For REET
Rin a r Derr Derr

R X B't what kl Ra K Tat Ro
antes

es g
B 1

B B

Br B 1207 11 7120
k If

Solve hospitalin ploe glue hey
2 dhe'd quefarms

are alive

my
stolen er K CDDien en Ria's


